SN

el

=4

Hu: MA BAD
== [m]
[==Tha |

S ZH L SRA(BH) - HIRAY - BHES Off & 04 gggf; HRE2

SA)lEARA 3,448,609 3,024,673 423,936

HE =8 AP 2,042,844 1,694,404 348,440

EENy ¥ 23 1,523,327 1,239,046 284,281

EM)|son FU2Y 10,600 10,000 600

201 Yer2 | 3,000 3,000 0

01 At2Z2lb| 3,000 3,000 0
O=e)lsgs 44y S 3.000

202 OdHl 4,600 4,600 0

01 2o 4,600 4,600 0
OFMI|seR gRFH 4,600

203 Y2 FY| 3.000 2,400 600

03 AlMETARFTY| 3,000 2,400 600
OFM)|gd? g2 FA 3,000

HAr2el € JlsYs 243,212 74,212 169,000

101 ©l214| 36,011 30,011 6.000

04 JIZH22NSES 36,011 30,011 6,000
O AL 2l 36,011

201 Yure gyl 44,201 44,201 0

01 A2 22lH 8.000 8.000 0
OAZXHUIFHl QX 400,0002 =2CH*10L 8.000

02 SZ=2%H| 36,201 36,201 0
Oxtgr & AlZE sxze 36,201

401 Al&HIL 2] 138,000 0 138,000

01 Al&H] 130,000 0 130,000
OFUAY &= 130,000

02 el 7.500 0 7.500
OFUAY &= 7.500

03 Al& =0t 500 0 500
OFuUAY &= 500

405 XtaHx S| 25,000 0 25,000

01 AL SEFSH| 25,000 0 25,000
OsEx 2 25,000

NE2EES THij2tel 181,699 141,829 39,870

101 @l21b| 40,699 36,999 3,700

04 JIZHM22RHEES 40,699 36,999 3,700
OMBRSTHH L WX &= 40,699

201 Yer2 | 48,000 24,830 23,170
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K- EH3 .S (3H) - MBAY - BY= Ao gggf; HRS2
01 At22telyl 8,000 4,500 3,500
O24)| gXt= 450,000& *103] 4,500
o2& Hd ¢ 700,000& x53| 3,500
02 s=s29H| 40,000 20,330 19,670
OAIE2 2= THHH&H| S X &2l 13,000
OAMNEEZ2 MOUl&EH SFH] 27,000
206 M = H| 60,000 50,000 10,000
01 THZ bl 60,000 50,000 10,000
OMNEHEE SIHH XX & 2,000,000%30ha 60,000
405 KHAHFE S 33,000 30,000 3,000
01 XY 2 EF SHI 33,000 30,000 3,000
OAMNEEZ Il 2 Egydy 33,000
SEAEATR L 111,691 181,891 A70,200
101 o1 21H| 30,011 30,011 0
04 J12tMZ22 B 30,011 30,011 0
OXs=& AgAYEX 30,011
201 LBt29H| 19,680 15,880 3,800
01 AF22eltl 15,680 15,880 A 200
Os=&3d = 13,680
OS3&Ed 2,000
02 ss249H| 4,000 0 4,000
OA" &l |XH| 1,000, 000& *43| 4,000
207 A FoHed| 35,000 58,000 A 23,000
03 A& 2HI 35,000 58,000 A 23,000
OWUYRX =&t 0[AJ] L Al 100,000 =504 5,000
OHZ0IE Ol0l =4 EOFM O 20,000
OZXN&E 5 AlEZE 20,000& *5Z* 1000 10,000
405 XH&HFE SHI 27,000 78,000 A51,000
01 AL =EF SHI 27,000 78,000 A51,000
O%FESE 40| 10,000
OC02 217 = 12,000
O& Mol 5,000
SAb 2| & 871,114 681,114 190,000
101 el 24H| 30,011 30,011 0
04 JI2ZtMIZ22XNsEE2 30,011 30,011 0
Oos=s22 30,011
201 dEt2ad| 6,108 6,108 0
01 At22telyl 6,108 6,108 0
OE=gs s5Hl 4,000& *3005 1,200
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SA BAIEADA
X ZH: K
o T —

ool ZENY 2 2 (9l @e)
S HB - HRA(EH) - MRAY - B 04l & o e HIREY

OXt= SJIdl 2,000 *2705+2.23| & 1,188
O7AM & o= Rl 210,000 «12& 2,520
Oog=adl 50,0003 *243| 1,200

206 M =4l 574,995 444 995 130,000

01 M= bl 574,995 444,995 130,000
OZ=AZH £ 2283 574,995

401 Al&HI YL S OHYI 45,000 50,000 25,000

01 Al&H| 45,000 47,950 22,950
OSA E4HHZ ZA 0,000
O2L-HMel&E WEh| B2 wHl 35,000

405 KHAHFESHI 215,000 150,000 65,000

01 HARESF=H 215,000 150,000 65,000
Oos=+¢ 100,000
OMEe LY 28 015D 25,000
OQUY| 4R 2& 90,000

HA els=FH4H 2 105,011 150,000 A44,989

101 el 30,011 25,000 5,011

04 JIZtHIZ2E2ENEE S 30,011 25,000 5,011
OZBZ= &l & AY4EH M 30,011

206 M=H| 75,000 75,000 0

01 M= bl 75,000 75,000 0
O&Z2=AtZH| 30,000

OMamo MENH ¥ AEH S

4,500& %10,000= 45,000

SAAE AP 519,517 455,358 64,159

SIS 2 AIEEE 124,206 107,800 16,406

101 @1 Z4H| 15,006 0 15,006

04 JIZtHIZ22HEE+ 15,006 0 15,006
Omehgt Al 15,006

201 et 11,000 10,000 1,000

01 AtS 22l 7,000 10,000 23,000
Ost2 =3et E89Md &3 3,000& *2,000& 6,000
o=yl 100,000& 23| x5H 1,000

02 2323l 4,000 0 4,000
OTAHA A& ST 2 2,000
Ogte 238 |AUE* 2,000

206 M=l 24,000 12,000 12,000

01 Mz bl 24,000 12,000 12,000
OMASHAZ 21,000
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2H: SM)EA
M ME BM)IE APHY
et SMAIE o7 (el @gl
S BB H(BH) - MBAY - B2 Ol A 24 %ggig HRs2
O a7l 3,000
207 ATl 60,200 60,300 A100
03 AlEel ] 60,200 60,300 A100
O MUHSZE M4 S22HE 145
130, 0002 *1507H 19,500
OB HeASTE M4 SSUAQ 185
13,0002 *1,9007H 24,700
NP LI 2,0002 +407H *2002 16,000
405 XtarE S| 4,000 25,500 A11,500
01 XHALSEF S| 14,000 25,500 A11,500
O] 6,000
OuEY =7 8,000
B2 Algmal @ HE 395,311 347,558 47,753
101 Q124H| 30,011 30,011 0
04 JARZRISES 30,011 30,011 0
OB 2 AL B2 30,011
201 Yereg| 15,300 7,200 8,100
01 AtRZelt] 7,300 7,200 100
OfteEE s=2 12,0002 *1505 1,800
Ot =X 50,0002 *303] 1,500
Ot A el TI=| 100, 00024 *58 x23| 1,000
OBt 2E R 30,0008 * 1005 3,000
02 BZ2%Y| 8,000 0 8,000
ORN A& 2 FHl 2X24 8,000
206 M=l 290,000 257,947 32,053
01 T2l 290,000 257,947 32,053
OBIS=SAIRY U B2BE S 290,000
207 ALl 10,000 0 10,000
03 Al&iel Y| 0,000 0 10,000
OB2 |2 MM AP 10,000
405 X+t S| 50,000 50,000 0
01 XY SEE S| 50,000 50,000 0
ORTEE2Y 5,000,002 *105 50,000
HH2SYFH(FL2ARL) 1,405,765 1,330,269 75,49
ol 2l (FAIIERA) 1,135,591 1,067,095 68,496
OlZi 2 (SAD|EHTL) 1,135,591 1,067,095 68,496
101 Q1248 1,073,031 1,004,835 68,196
01 B 892,333 836,918 5,415
OI=Li] 66,070
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